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General Instructions :
(1) All questions in both the sections are compulsory.
(it)  Marks for questions are indicated against each question.

(iii)) Question Nos. 1 -4 and 13 - 16 are very short-answer questions carrying
1 mark each. They are required to be answered in one sentence each.

(iv) Question Nos. 5§ -6 and 17 - 18 are short-answer questions carrying
3 marks each. Answers to them should normally not exceed 60 words
each.

(v) Question Nos. 7 -9 and 19 - 21 are also short-answer questions carrying
4 marks each. Answers to them should normally not exceed 70 words
each.

(vi) Question Nos. 10 - 12 and 22 - 24 are long-answer questions
carrying 6 marks each. Answers to them should normally not exceed
100 words each.

(vii) Answers should be brief and to the point and the above word limits
should be adhered to as far as possible.
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SECTION A
(MICROECONOMICS)

1. o1qul sfafiran & sraia, ot @wiltd (AR), €ird duifd (MR)
Bt 8 | (ko 1 qfd shifsm) 1

AYAT
“Oqe A T wH % U dmia wwita (MR) dun #Hwi@ @@ (MC)
_ 2t =fEw Qe 3" 3o &R s S1E EHid ST B
=tee |7 (feh wore 1 qfd <hifor) 1

Under imperfect competition, Average Revenue (AR) remains
Marginal Revenue (MR). (Fill up the blank)

OR
“For a firm to be in equilibrium, Marginal Revenue (MR) and Marginal
Cost (MC) must be and beyond that level of output Marginal
Cost must be . (Fill up the blank)

2. 3¢ qfd Ik Sealex 1@ (Y-3981) o quIR T &l @@ 7, af a&g i g
_ hEad 7 | (Reh v A gfd Aifw) 1

%)  SohTS o UL wrEeR gfd

@) fa: @eEr g

M) Ui SeEeR g

°)  qUid: dEER "

If the supply curve is a straight line parallel to the vertical axis (Y-axis),

(
(
(
(

supply of the good is called as . (Fill up the blank)
(a)  Unitary Elastic Supply
(b)  Perfectly Elastic Supply
(c) Perfectly Inelastic Supply
(d)  Perfectly Elastic Demand
581212 3 P.T.0.



3. 20 IHEAT foshd o W P Ut T 700 AT Bt 8 | 210 318 1 o
HE " T 70 hH HEG FUIG A Bt 8 | PA 21 THEAT TR B T

IfTd pa T 1 e B | (T faeheq &1 99 hifor)
(®) T 721 (@) < 630
([T T 770 ("F) T 1720

The Total Revenue earned by selling 20 units is ¥ 700. Marginal
Revenue earned by selling 215t unit is ¥ 70 . The value of Total Revenue

earned by selling total 21 units will be . (Choose the correct
alternative)

(a) T 721 (b) < 630

(0 T 770 (d T 720

4. feuw mu foa § aeg X @91 a%g Y % faw, X;Y; 901 X,Y, A9, @ fafi=
FOIAEY T, AT Ty B, SCATGH AUTSAT 956 & | GF1 a0 STEeRl § A 3T A
aTEfeeh ICUTE aT Py 3R P, T 3cdq1ed shi ShATT: Jef¥id &hid 2 |

a9q Y

0

TEGAT X 3N Y & drdfaeh IcaTe H, g1 9% afei o, giEdq
Rgwrepra gro wefdfa g | (e s <t gfd <hifs)

(%) Ay¥ Py (@) A8 Py
(M) P1H Ay (F) AjE A
AYAT
giEdd h Hi9a e (MRT) foor 2 | Ut feorfa ° 99 a1er Scited 9wreqT s
qafeg g | (e wam gl FiNe)
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In the given figure X;Y; and XyYy are Production Possibility Curves in
two different periods T; and Ty respectively for Good X and Good Y.
A; and Ay represent actual outputs and P; and Py represent potential

outputs respectively in the two time periods.

Good Y

0 Good X

The change in actual output of Goods X and Y over the two periods

would be represented by movement from . (Fill up the blank)
(a) A2 to P2 (b) A1 to P2
(¢ PytoAy (d AjtoAy

OR

The Marginal Rate of Transformation (MRT) is constant. The Production

Possibility Curve, so formed, would be to the origin.

(Fill up the blank)

T hicqeh TSl I FEEAT ¥ HHG IR g™ AW hl ARE
HIT |

arerat
T I ST ! HERIdT § [T < W 61 sxmen Hiv |
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Explain the law of diminishing marginal utility, with the help of a

hypothetical schedule.
OR

Elaborate the law of demand, with the help of a hypothetical schedule.

6. M NANTEA I IS AT H ITYh 3G Al TR T HINT |

Differentiate between Microeconomics and Macroeconomics, with
suitable examples.

7. fTmfaRed § @ =8 % 787 I 777 B 2 9 IW % wHIH T I9yd
I ST |

(%) oftgd AT I, H1Ed qNEd] AT a5k hl IHeh =HaH &R T HIedl
2 |

(@) 3fHd IcUTE dsh qYT HHId 3cI1E dsh “U-3TTHR % dsh BId & |

(M) wft srem wftfeuforn 8, sitwa wurftq qen divia gurfta swst 8 € |

(F)  Ho AT G5k AT F TG AT I5h Teh-gE o THIAL B @ |
ForaTT

T R STE 1 AN HLd gY, T U1 TR H o Tqa i SATe
HIT |

Which of the following statements are true or false ? Give valid reasons

in support of your answer.

(a) Average cost curve cuts Average variable cost curve, at its
minimum level.

(b)  Average product curve and Marginal product curve are
‘U-shaped’ curves.

(¢)  Under all market conditions, Average revenue and Marginal
revenue are equal to each other.

(d)  Total cost curve and Total variable cost curve are parallel to each
other.

OR

Explain a firm’s equilibrium under perfect competition, using a
hypothetical schedule.
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8.  Ueh I%q ol IR Hqed § 7 | 31 91 (HWeh) UM &4 W, GHST, foh form
YR NI hiAd H HHl & SO Fqer hidqd q9T Tge A1 Joqifad gid 8 |
EEEIRRENIEI 4
The market for a good is in equilibrium. Explain, using a diagram, how a

decrease in input price would affect the equilibrium price and
equilibrium quantity, keeping other factors constant.

e :  HlciRad geT Fac givanaa gheniaat & 079, 397 & 8 F T W
g :

Note: The following question is for the Visually Impaired Candidates
only, in lieu of Q. No. 8 :

Teh &g Sl SR TdeH | 8 | 31 91d (heh) THH @ T, a9ese fo fha
TehR IINTA Shud | U} o RV T hiHd ad e A1 IHTET B 2 | 4
The market for a good is in equilibrium. Explain, how a decrease in

input price would affect the equilibrium price and equilibrium quantity,
keeping other factors constant.

9. (%) uE X H A" A FHd A= HIOR (<) 0-2 ] | Al awg H hwa d
5% %h! gfg BT 8, Al a%g i AT T A1 fohaq Wfaerd & A grft 2

(@) fr=fafea afn 6t fwa A= F TRl A Ted T (W) FHH H
SHIHUE 4
=31, =02, 11

AT

YA o ‘TG F MAMRATY J%g o 9§ H §H W, I ohl W TR
YR gTird BTt 2 Tt <hl HgraT § HHeETsy | 4

(a)  The coefficient of price elasticity of demand for Good X is (-) 0-2. If
there is a 5% increase in the price of the good, by what percentage
will the quantity demanded for the good fall ?
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(b)  Arrange the following coefficients of price elasticity of demand in
ascending order :

=31, 902 11

OR
How would the demand for a commodity be affected by a change in
“tastes and preferences” of the consumers in favour of the commodity ?
Explain using a diagram.

Tz:  Afifar 5 A e ahenfiat ¥ fr, s dem 9 ()
P I WE

Note: The following question is for the Visually Impaired Candidates
only, in lieu of Q. No. 9 (Alternative) :

JUATFAIST o “TEg 9 WAMHRAS I % 9g H W W, a&g i " fhd
SRR SHTfrd BT ? |HESy | 4
How would the demand for a commodity be affected by a change in

“tastes and preferences” of the consumers in favour of the commodity ?
Explain.

10. (%) TUHIYPHR IR & 3aria “hima faug” i faerwar 1 1o auemsu |

(@) UHIRR TAT THITRN TEIRET & STqTd A1 Fhi i Tehid shi JaT
i | 3+3

(a)  Explain the meaning of the “Price Discrimination” feature under
the monopoly form of market.

(b) Compare the nature of demand curves under monopoly and
monopolistic competition.

11. fafatea afifeufa 6 smen fifv 3+3
(%) Tk & IHRHE oIsh T Hoe |
(@) T sl 9% @ 3= S a% W RagwE |
A=

gr-HATa Iwfar = & same hiflu | 6
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Explain the following conditions :
(a) Movement along the same indifference curve.
(b)  Shift from a lower to a higher indifference curve.

OR

Explain the Law of Equi-Marginal Utility.
12. (%) U UNEdi e & ded gY STdhal § S0 dredd & ?
(@) U gREdl H1F % =ed gL Afdwa o foheal &l HRUN h €& § ==
i | 2+4

(a)  What is meant by increasing returns to a variable factor ?
(b)  Discuss briefly, any two reasons for the decreasing returns to a
variable factor.

T Ue T
(wafie srefvomen)
SECTION B
(MACROECONOMICS)
13. ‘g1 Uk’ i gitarfyg shifu | 1
Define ‘money multiplier’.
14, 9K S5 H, WA =T S 8, Se RGHREETR D]
= Hifs) 1

(%) Tod =T I &
(@) g & YTae 2 &

() USRI =TT I |

(") TSI 91T AT T o S &l

Primary deficit in a government budget will be zero, when
(Choose the correct alternative)

(a)  Revenue deficit is zero

(b) Net interest payments are zero

(c) Fiscal deficit is zero

(d)  Fiscal deficit is equal to interest payment

15.  Tcdel L 9§ 379 I 99ed @ ? 1
SrraT
T HL Y AT T g9 2 ? 1
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What do you mean by a direct tax ?
OR

What do you mean by an indirect tax ?

16. TH Adgayr U faw = Wedfed & & fog, @ & . W
gehal 8 | (Tl fashew 1 =3m i)

(%) Tohg AT AT | HH

(@) e I sigum | Jfg

() A AR § T vk @
(&) %A g

In order to encourage investment in the economy, the Central Bank may

. (Choose the correct alternative)
(a)  Reduce Cash Reserve Ratio
(b)  Increase Cash Reserve Ratio
(c) Sell Government securities in open market
(d)  Increase Bank Rate
17. 9 ¥ s=a TgR (MPS) 0-10 g A1 3ifcH 3™ § qiEdd T 15,000 FUS
8, a1 IRfYe femr < TomT SHifs |

Estimate the change in initial investment if Marginal Propensity to
Save (MPS) is 0-10 and change in final income is ¥ 15,000 crores.

18. g & Tgd & Add “ARMIT T ATTTEAT § YSM W US4 91l IHTE

1 IgW@ VT |

srora
Frafafaa w1 21ed s -

(%) TG S=d

(@) 9of T

() T 399
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State the impact of “Excess Demand” under the Keynesian theory on

employment, in an economy.

OR
State the meaning of the following :
(a) Ex-Ante Savings
(b) Full Employment

(c) Autonomous Consumption

19. el % o ffaRad w@f H 989 § == hife - 4
(i) oI H o6
(i)  offcw oG
Discuss briefly the following functions of a Central Bank :
(1) Banker’s bank

(11) Lender of last resort

20. TfafEa el 1 Toea wiftadt a1 gefima wifta™i § afieha shIfSTT | 310
I &% qHLH | 9P BRI ST | 4

(%) T A1 THIed 3Tk o Wfsdl o o el sgusgla fm g ot
Heg |

(@) wTEde & H TH THE 6 AWM (W) H T 0 HEoE,
Y fafies =i foshi |

() YR €2 S GRI TLHR i ATHR JIAH |
(F) A g1 i (IMF) & foran mm = |
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Classify the following statements as revenue receipts or capital receipts.
Give valid reasons in support of your answer.

(a)  Financial help from a multinational corporation for victims in a
flood affected area.

(b)  Sale of shares of a Public Sector Undertaking (PSU) to a private
company, Y Ltd.

(c) Dividends paid to the Government by the State Bank of India.
(d)  Borrowings from International Monetary Fund (IMF).

21.  “AfU Tha TS 3G (GDP) 1 arcqd Aeaeen § Jegali i Afes i
ferd IUASUdT BT & |7 9 319 feU T4 e § HeHd 8 ? 379 ST o THeH
U ST HRV ST | 4
AYAT

Teh TEATCHS 3GTE0T oh SN ¥, Jdfaeh Gehdl Tie] 3cd1g aT Hifgeh Heohdt
T 3cATE 1 37 FHSTET | 4
“Higher Gross Domestic Product (GDP) means greater per capita
availability of goods in the economy.” Do you agree with the given

statement ? Give valid reason in support of your answer.

OR

Explain the meaning of Real Gross Domestic Product and Nominal

Gross Domestic Product, using a numerical example.

22. (%) UG G % AU (YeI-ghg) a1 S g1 h eI (YoI-8H)
H SR Tee HIWT |

(@) “9re @ o ARN ¥ F91 a0 g ?
() foreht <o o T fereeh ge1 1 qid % FoRelt O @i B SgE AT | 44141

(a)  Distinguish between appreciation of home currency and
depreciation of home currency.

(b)  What is meant by “current account surplus” ?

(c) State any one source of supply of foreign currency for a country.

581212 12



1 gig

Tehal TR 3cUTG

T8 =R

ot qun ITHierdr d It T

HAAAT

fou MU sTeRgt W YR W, “Gehat Wy Uit fmiur” qen “vemem sifeRm” %

T Tq I |
%.9. forem (7 ;f;g} 7)
G) | 22,100
(i) | TGl & dad 12,000
Gii) | STt 3Afa| 3uim = 7,200
(iv) | G AL T 700
(v) | Eha e ot i ?
(vi) | HeIB™ 500
(vii) | EhR SfeH ITUT = 6,100
(viii) | TS <1 fafra e 4,800
(ix) | SETE AR ?
x) | faa faia 3,400
(xi) | feptram 1,200
(xii) | oo & smed feet e s (-) 150
 58/2/2 | 13
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Define the following :

(a)  Value Addition

(b)  Gross Domestic Product

(c) Flow Variables

(d)  Income from property and entrepreneurship
OR

Given the following data, find the values of “Gross Domestic Capital

Formation” and “Operating Surplus”.

S. No. Particulars Amount
(< in crores)
1) National Income 22,100
(i1) | Wages and Salaries 12,000
(iii) | Private Final Consumption Expenditure 7,200
(iv) | Net Indirect Taxes 700
(v) | Gross Domestic Capital Formation ?
(vi) | Depreciation 500
(vii) | Government Final Consumption Expenditure 6,100
(viii) | Mixed Income of Self-Employed 4,800
(ix) | Operating Surplus ?
(x) | Net Exports 3,400
(xi) | Rent 1,200
(xii) | Net Factor Income from Abroad (=) 150
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24, Tafafaa sifeafaat 4 gurem 9 6 == Hifve
(%) wHY |, IuY Ifd 9 HA B |

(@) Yeaiera A, Jeanfya s=a 9 At & |

Discuss the adjustment mechanism in the following situations :
(a)  Aggregate demand is lesser than Aggregate Supply.

(b)  Ex-Ante Investments are greater than Ex-Ante Savings.
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